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85 & AR (284,160) (227,559)
X 79,963 69,006
EH b A KWz 5 55,650 35,839
$HE &9 #H AR (7,857) (10,439)
TR (43,867) (44,841)
Hh 48 = 5 X (17,596) (14,947)
HEMBARRFNKE (BE) 34(d) 26,975 (1,020)
HEBME AR ERMERE (B1E) (20,874) 13,048
EMBEMER 6, 14 23,003 7,066
REXEERF 6 95,397 53,712
A& B 7 (4,326) (2,041)
DIEEE R RlE A R BB (15,000) (10,307)
Ml e nmE - (7,656)
R B4 A %= A 76,071 33,708
I8 10 (5,910) (4,334)
REFLDEHBRRESANER 70,161 29,374
DR R E R (34) (89)
BRERENLEEEKER Il 70,127 29,285
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#E K K A 17,846 10,032
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BN 0.48938 7T 0.2417% 7T
#E 0.47058 T 0.2287% 7T






